] PARTS CHECKLIST

Clemco/Zero Style Hand Gun & Parts

Customer PO #:
Company Name:
Contact Name:

DS

2717 Tobey - Indianapolis, IN 46219
(317) 545-0665 - FAX (317) 545-0670 - (800) 800-0665
www.idsblast.com

Line #

i 1667-810
GUN ASSEMBLY, W 1/8"
ORIFICE, LESS NOZZLE

1667-820
GUN ASSEMBLY, W 5/32"
ORIFICE, LESS NOZZLE

1667-830
GUN ASSEMBLY, W 3/16"
ORIFICE, LESS NOZZLE

1667-840
GUN ASSEMBLY, W 7/32"
ORIFICE, LESS NOZZLE

1667-850
GUN ASSEMBLY, W 1/4”
ORIFICE, LESS NOZZLE

1347-1240
NUT, NOZZLE HOLDING

1347-1510
NUT, NOZZLE HOLDING,
WIDE SPRAY

1348-380
NOZZLE, CERAMIC,

3 ¢ STRAIGHT BORE, GUN
INSERT, 5/16” BORE

N e

1348-390
NOZZLE, CERAMIC,
STRAIGHT BORE, GUN
INSERT, 3/8” BORE

[]

m@@m

12 11

Line #

1348-450

NOZZLE, TUNGSTEN
CARBIDE, STRAIGHT BORE,
GUN INSERT, 5/16” BORE

1348-1400

NOZZLE, TUNGSTEN
CARBIDE, STRAIGHT BORE,
GUN INSERT, 3/8" BORE

1348-1040

NOZZLE, TUNGSTEN
CARBIDE, STRAIGHT BORE,
GUN INSERT, 7/16” BORE

1348-1000

NOZZLE, TUNGSTEN
CARBIDE, STRAIGHT BORE,
GUN INSERT, 1/5” BORE

1348-630

NOZZLE, BORON CARBIDE,
STRAIGHT BORE, GUN
INSERT, 5/16” BORE

1348-640

NOZZLE, BORON CARBIDE,
STRAIGHT BORE, GUN
INSERT, 3/8” BORE

1348-650

NOZZLE, BORON CARBIDE,
STRAIGHT BORE, GUN
INSERT, 7/16" BORE

1348-1090

NOZZLE, BORON CARBIDE,
STRAIGHT BORE, GUN
INSERT, 1/2" BORE

J700000000

1348-1820

NOZZLE, TUNGSTEN
CARBIDE, STRAIGHT BORE,
WIDE SPRAY, 3/8” BORE

Pg.10of2

Some of the product/company names mentioned in this checklist may be trademarks of their respective owners. Forecast Sales, Inc./Pirate Brand® has no affiliation with

these companies/owners, and the product/company names are used here for comparison purposes only.

©2009-2011 Pirate Brand, All Rights Reserved



V] PA

RIS CHECKLIST

Line #

Be Sure The Part You Need Is The Part You Get

1348-590

NOZZLE, BORON CARBIDE,

STRAIGHT BORE, WIDE
SPRAY, 5/16" BORE

1348-600

NOZZLE, BORON CARBIDE,

STRAIGHT BORE, WIDE
SPRAY, 3/8” BORE

1348-610

NOZZLE, BORON CARBIDE,

STRAIGHT BORE, WIDE
SPRAY, 7/16" BORE

1348-230
NOZZLE, EXTENSION #5,
3"LONG

1348-240
NOZZLE, EXTENSION #6,
3"LONG

1348-250
NOZZLE, EXTENSION #7,
3"LONG

1348-340
NOZZLE, EXTENSION #5,
6"LONG

1661-60
GUARD, WIDE SPRAY
NOZZLE

08/ 177844

1423-70
O-RING

1424-480
RETAINING RING, WIDE
SPRAY

1237-10
GUN BODY, HAND

0o o o o o o o o oo o

1347-1230
NUT, LOCKING

0o o o o o o o oo ot

Line #

10

1450-50
SLEEVE, RUBBER

1701-290
ORIFICE, 1/8"

1701-300
ORIFICE, 5/32"

1701-310
ORIFICE, 3/16"

1701-320
ORIFICE, 7/32"

1701-330
ORIFICE, 1/4"

1219-300

FITTING, 1/2" SWIVEL x 1/2"

PUSH LOK

1219-350
FITTING, 1/2” SWIVELTO
3/8"BARB

112-4720
HOSE, AIR, 1/2" INSTAGRIP

1219-340
FITTING, 1/2" BARB STEM

112-4760
HOSE, SUCTION, 1/2"
URETHANE

112-4710

HOSE, SUCTION, BLACK, NOM.

ID 1/2"x 15/16"OD, 2 PLY,
PRICE PER FOOT, SECTION
SIZE 400’

Pg.2 of 2

Some of the product/company names mentioned in this checklist may be trademarks of their respective owners. Forecast Sales, Inc./Pirate Brand® has no affiliation with
©2009-2011 Pirate Brand, All Rights Reserved

these companies/owners, and the product/company names are used here for comparison purposes only.




